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Section A (30 marks)

Read each questlon carefuliy. Choose the most suitable answer and
wnteiisnumber123or4mﬂ1ebmd(e&pmvnded :

1. Lmng things _ to ensure that their own kind
lives on.

: (1): grow
(2) move
(3) recycle
4) reproduoe : : (

2.  Which one oftheibllowlng acﬁv&iesdoesnothaveaﬁxéd pattemn
of change'? '

(1) The four seasons cycle

(2) The day and night cycle

(3) The life cycle of a mousa

(4) The movement of clouds (
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The adult frog is different from its young in terms of __ .
A. the food it feeds on

B. the way it breathes

C. the type of outer covering it has on its body.

Which of the above statements are comrect?

(1) AandB only

(2) BandConly

(3) AandConly

(4) A,BandC ( ) -

Which of the animals have the same number of stages in their life
cycles?
A. hen

B. housefly

C. grasshopper

(1) AandB only
(2) BandConly
(8) AandC only

(4) A BandC )
The pupa stage of the : is called a chrysalis.:
(1) butterfly |

(2) mosquito

(3) dragonfly ,
(4)  cockioach ( )

A mosquito is most likely to lay its eggs in

(1) the sail

(2) afishtank

(3) adark comer

(4)  stagnant water ( )



Which of the following living things lay numerous eggs at one time?
A. toad

B. dolphin
C. angelfish
D. cockroach

(1) AandBonly

(2) CandDonly

(3) A,BandD only

(4) A, CandDonly ( )

Which of the following plants reproduce in the same way as the
garlic?

(1) ity

(2) chilli

(3) lime

(4) potato ( )

What are the functions of part X shown in the diagram below.

A. Tapreventﬁ\eplantﬁ'omloahgm
B. Toholdﬂ:ephntﬁmﬂyﬁothegromd
C. To take ir water and mineral salts from the soil

(1) AandB only
(2) B-and C only
(3) AandConly
(4) A, BandC ( )
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10. The diagram below shows the tiny openings which are found

11.

mosily on the underside of the leaves. What are the functions of
these tiny openings? '

A. To allow air to enter and leave

B. To allow excess water to escape

C. To trap sunlight for making food

(1) AandB only
(2) B and C only
(3) AandConly
(4) A,BandC ( )

Thé two arrows in the diagram show the path taken by .
A. water from the roats to the leef _

B. light rays to the leaf for making food

C. food from the leaf to all parts of the plaiit

(1) Aonly

(2) A andC only

(3) B andC only

(4 A.BandC ( )
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12.

13.

The diagrams below show the stages of development from a
flower bud to a fruit. The coirect order of development is )

(1) E——B —*A‘——’D—"C
2 E—>D—B—sc—sa
@ E—s>C-— B —+A —D

4 E—+A-—B—sC—WpD (¥

Which of the following fruits do not have saeds?

A. angéa‘ﬁ;: . - B. balsam

(1) Aonly.

(2) Conly

(3) Aand B only

(4) Band C only ( )
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14. Four groups of similar seeds A, B, Cand D arergerminated under

15.

different conditions.
Seeds Conditions of Germination.
A air waler no wamth fertilizer
B water warmth fertilizer no air
C waimth no water air fertilizer
D water air wamth no fertilizer
Which group of seeds will germinate?
1 A
2) B
@) C
(4) D ( )
Father Mother |
blue eyes, brown eyes,
attached earlobe detoched earlobe
blue eyes, brown eye.é, blug eyes,
detached earlobe attacked eariobe detached eariobe
KEY )
|:| Male
O Female

from the father?

(1) blue eyes

(2) brown eyes

(3) attached earlobe

@)

detached earlobe

- What is the characteristics that the only boy in the family inhesits




Section B (20 marks)
Write your answers in the space prowded

16. The diagram below shows a process that only takes place in the
leaf of a green plant in sunfight. The amows indicate the exchange
of gases between the leaf and the surrounding. [3m]

~‘. -.“‘ Gas A is aiven Ou{‘.

Gae B is fa'kén in.

(@) Name the process taking place

(by GasAis

(c) GasBis . .

17. Fill in the boxes below with the correct words to show the process

whereby the leaf of a green plant makes its own food. [3m]
+ ntepremseod ,  gugar +[
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18. The diagram below shows the cross-section of a stem.
Label the part that carries water “W” and the part that carries food
“F° in the blanks below. - [2m]

19. The young of two insects are shown beiow. Their body coverings
beoomeﬁghta_sﬂvgygrowﬁggen '

(a) |

(b) Anotherlivingﬁmg which isn_ggmmect.alsomouIEasit
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20. The life cycle of a moth is shown in the diagram beiow.

21. .

(a)
(b)

(c)

(@)

(b)

Mras
N b \\
. \{é{J |
_ © pupa |
Atthe . stage this living thing does not feed
at all. ' [1m]

At the : stageﬁismina(isapéctstofaofaerﬁ.
_ m

Explain why this animal is a pest to farmers at this stage.
. _ {(1m]

Give one way in which the life cydle of the' mosquito Is
different from that of the grasshopper. (Do not compare the
insects.) . :

[1e]
What kind of food do their young eat? : | [1m] |

Young of mosquito eats _

Young of grasshopper eats : —
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22. Name the young of each living thing. [3m]

Adult Young

Frog

Mosquito

Grasshopper

23. (a) Complete the diagram below to show the life cycle of an
onion. [1m]

(b) lnwhatway:sﬂdrﬁaentﬂunﬂwelifecydeofashngbean
plant?

End of Paper
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Methodist Girls Primary School
Primary 3 Science CA2 Exams (2005)
Answer Sheets
Qi Q2 Q3 Q4 Q5
4 4 3 1
Q6 Q7 Q8 Q® Q10
4 4 1 2 1
Qti Q12 Q13 Ql4 Q15
2 2 2 4 1
16a. photosynthesis
16b. oxygen
16¢. carbon dioxide
17. Carbon dioxide + water + oxygen
S W
F
19a. shedding of skin
19b. A snake
20a. pupa
20b. larva
20c. It cats the leaves of the farmer’s crops.
2la. The mosquito has four stages in its life cycle but the grasshopper has three
stages in its life cycle.
21b. microscopic organisrns
plants
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22.

Young

Tadpole

Wriggler

nymph
23a. Bulb

Adult plant
—___  Young plant

23b. The string bean plant reproduces by a sead but the onion reproduces by a buib.
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